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General Instructions :
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The question paper comprises of two Sections, A and B. You are to attempt both the
seclions.

. All guestions are compulsory
. All questions of Section-A and all questions of Section-B are Lo be attempted separately.
. Question numbers 1 o 3 in Section-A are one mark questions. These are to be answered in

one word or in one sentence

. Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered

in about 30 words each.

. Question numbers 7 to 18 in Section-A are three marks guestions. These are to be

answered in about 50 words each

. Question numbers 19 to 24 in Section-A are five marks questions. These are to be

answered in about 70'words each,

Question numbers 25 o 33 in Section-B are mulliple choice questions based on practical
skills. Iiach question is a one mark question. You are to select ong most approprinte
rasponse out of the four provided to you.

. Question numbers 34 to 36 in Section-B are questions based on practical skills. Fach

question is of two marks.
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Suppose we want to push a heavy box. If you're applying force and gtill the box is not

" moving, what does this imply? Whatare the conditions required to move the box?
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Write three points of difference in mass and weight of an object.
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The brakes applied to a car produce an acceleration of 6 ms =2 in the opposite direction to the maotion.

if the car takes 2 5 Lo stop after the application of brakes, calculate the distance it travels during this
time:
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A boy travels 3 km north and then 4 km east. What will be:

-

{a) the distance travelled by him ?
{b) the minimum distance he needs to go to get back to where he starbed 7

(c)  the direction of his displacement ?
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(a)  State Newton's Second Law of Motion.

(b) How does a kung fu master breaks pile of tiles with a blow from his head ?
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Explain it mathemalically.
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* Indiads a country with three fourth of the population engaged in agriculture. Even though

financial conditions of some farmers do allow them to take higher level farming practices and
improved agriculture technology, vet they are hesitant to use of HYV seeds with fraits such as
resistance to disease and pests, high quality that would results finally in higher yield. The
Government's Kisan channel solved all their apprehensions.

fi) ~ Whatis meant by genetically modified crops ?

(i)  Whatare the desired agronomic characters for fodder and cereal crops ?

(iti)  In your opinion what should be dene so that the modern agriculture technology is
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Compare the use of manure and fertilizer in maintaining soil fertility,
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When you mix iron filings and sulphur thoroughly and spread the mixture evenly on a white
sheet How the particles in the mixture appear ?

(@) greyand yellow particles can be seen distinctly spreaded uniformly.

(b)  grey and yellow particles can be seen distinetly, but they are not spread uniformly.

(c)  grey and yellow particles cannot be seen distinctly.

(d)  only yellow paricles can be seen distinctly,
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Reddish Brown deposit pbtained on iron nails when kept in a solution of copper sulphate in
water is that of :
(a) Cud (b)) CuO
i B (d) CuS
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On observing the temporary mount of human cheek cells under a microscope it was observed
that their shape was :

{a)  Spherical ()  Lengand almost rectangular

(cj Irregularand ffat (d}  Square

31 onl A it o witey A ) fafs 5t & e g e wm F am d £ 1

Page 11 of 15 SET= B












